El, X7 < 0.7 Overall

=
)

=
[

(=]
-

=]

i
=
=

o
]

o
N

m_l_llllIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

7 8 9 10 1 12 13

n', ){;”““ > 0.8 Overall

0.3

0.2

0.1

-0.2

-0.3

Q
O

O

.6 -0.4 0.2 0 02 04 06 0.8

E}, X™* > 0.8 Overall

= = =) (=) =)
ha o =) o X (%

=
s

m_l_llllIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

0
ﬁf)

|

T TTTT T T T T TT T T TT TT T TT T TTTT T

T B 9 10 11 12 13

', X7 < 0.7 Overall

0.3

0.2

0.1

e

O O O o
®

®

0.4 0.2 0 02 04 06 08



E,, X7** < 0.7 Dir / Res ratio
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El, X7 < 0.7 Z-Vertex
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E,, XT** < 0.7 Track Magnitude
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E,, XT** < 0.7 Fragmentation
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E;, X™** < 0.7 fraction EMC
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